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210 [= 575,740 &= 158,439 <& 0]
BXAIY 1,188,174 697,895 490,279 [Al 453,995 i 0 0]
201
Aot A 2,000 1,750 250
2,000 1,750 25001 L2 A
o6.3 2|
- MEXS Al 5,000 x400% = 2,000
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X (3000) ZMIJHZH] 2 (3300)2EX 8:(3310) AFRI RFRIOH Mg (3311) s KIS HIMIE: (210) 2 Z A G & ]
1
ni = o = HI iml )
HIAIE = M s A F 8 *

(=) 600
() 420
(Al 980

202

o H 2,000 2,000 0
2,000 2,000 001 2LH0IHI

op2XIG = 10,0002 x200 2,000
(2) 600
(%) 420
(Al) 980

206
WA 71,827 2,000 69,827 | cSEEHI 50,0002 x40H 2,000
(=) 600
(%) 420
(Al 980
o OFEM EHH| Al 351,1002x 15X 5,267
(=) 1,580
() 1,106
(Al 2,581
o223 R 200,0002 x 14! 200
(%) 100
(Al 100
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Z:(3000) 2 HIJH 2 Y] ((3300)2EXA S HI &t:(3310) gt MIE: (3311) s RI&H A MIAIEE: (210) 2 ALY SRR
Nl = c
Ab oM - il o A = Sl =
=2 ol = A 2 -
oxgAs YH AMFL 4,0002x688 = 272
(=) 272
oSYADXHY LIRTAL
44,290 x440 19,488
(=) 19,488
o AEI2] LIRFA 101,36324x440 4 44,600
(2) 44,600
301
UL A2 140,910 A23,790
140,910 N23,790/08 2U2LQIABAZ
oBAUIDRA(AMAA EX 1,830,000 x77Y 140,910
() 14,091
(Al) 126,819
307
0I2HO| A 500 500
500 500(01 2l22 22H|
ONtMES XZHE 2 50,0002 x103] 500
(&) 150
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X (3000) B RINLHl  2+:(3300)2EXASZIHLH| & :(3310) AR XHRIIH et Mg (3311) s KIS HIMIE : (210) B EANY (42 [o: M
o = d @ & mi
of &b o Hl - &t = J| =
BB HE HAE = o & o= oA - .

(Al 350

401

NE=LE =] 80, 196 61,245 18,951
CHHl
79,560 61,245 18,315(01 Al&H]

o AES2AIE AX 6,000,000 x1HA = 6,000
(=) 1,800
(%) 1,260
(Al 2,940
o262 AX(JIX2) 3,000,000 x1HA = 3,000
(2) 900
<) 630
(Al 1,470
oL g 4,500,000&x3.0kn = 13,500
(=) 10,800
(%) 414
(Al 2,286
oSN (2ILIPAEY) 101,0002/x68ha = 6,868
(=) 2,775
() 1,228
(Al 2,865
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Z:(3000) Z MIOHEHl  2:(3300) =2 E X &I L] & :(3310) &2 XH2IOH

= Mg (3311) =R KIAI:(210) 2 E AL [ZRH] [ HA]

2 = o9 £ oy 5

ol & o oo & = ) x

A s M MMIE = o & o =5 A Y
oSYEDX LY Al 367,41024x100ha = 36,741
(2) 12,654
(%) 7,226
(Al 16,861
o AEIel UHRFA 269,0202/x50ha = 13,451
(=) 67
(%) 4,015
(Al 9,369

636 0 636|03 Al& 2 CHH
o REIALY Al R0HH 70,561,0002/x0.90/100 = 636
402
0IZ2HRH=0] 880, 741 466,200 414,541
bS]
880, 741 466,200 414,541(02 DIZ2HIHEE AL HI

oS2AY 1,163,8002x500ha = 581,900
(=) 322,954
(%) 77,393
(Al 181,553

_29_



X (3000) B RINLHl  2+:(3300)2EXASZIHLH| & :(3310) AR XHRIIH et Mg (3311) s KIS HIHIEE: (210) 2 FAFES (42 [o: M
= = S H m
of Ao | - A = I =
X 2 E ME HAE = o & % = oA Y .

S N BT 967,0002x30ha = 29,010

(2) 22,628

(%) 2,030

(Al 4,352

c2URXE 3,974,000 x2ha = 7,948

(=) 80

() 2,384

(Al 5,484

oXl¥=35txE 13,094, 15024x20ha = 261,883

(=) 130,942

() 43,472

(Al 87,469

405
KA SH| 10,000 0 10,000
10,000 0 10,000(01 XA S EF EH|

CEUE REI(MEXGR) 1,000,000 x10CH = 10,000

(=) 2,400

(%) 1,680

(Al 5,920
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ZH:(3000) Z MIOHEH]  2t:(3300)2EXNKAEZIHeH| & (3310) At XHRI DR &t M&E: (3B =sXHA Mg : (220) REMIAFS (4R[S HH]
2 = ¥ 4 o 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
220
XHAI AL 425568 463,784 A38,216
206
WL 60,980 79,725 A18,745|c2EZAGIAIY 22 L P
- a2 35,0002x220% = 7,700
- X¥E 14,0002 x200m = 2,800
- MoH 7,0002x500% = 3,500
- RIZ=(EM) 13,0002 x200% = 2,600
cAl2HAIR P29 10,0002 x5002 = 5,000
o Alss SXA TR Y
10,0002 X35 x20 M = 600
SENZHHl K= (EM) 13,0002x100% = 1,300
oXAALS HHSYUM AMPY
N ads| 4,0002x2008 = 800
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ZH:(3000) 3 MoK :(3300)=E Xt

I

Mg (3311)=XI8H

MIAIE: (220) REAIAHS

o
40

| &

EJ
H
=

2
0l

imi

A2

AF =

Il

i

o A=A E AlHIE HIE7Y

- M
- Hl2

SMAE S2B=78 XM7Y
- bl

- P.PEOR 25

3,500& x400&

7,000 x300 X

7,000& %3002

150,000& x202

1,000& x500&

10,000& x50&

70,0003 x20 =

6,000& x300H4

3,000& x 130K

1,400

2,100

2,100

3,000

500

500

1,400

1,800

390
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ZH:(3000) B MIOHEH]  2:(3300)2EXNREZIHEH| 8F: (3310) A2 KRR e M&E: (3B =sXHA HIAIEL: (220) XEMIAFS [ZRE] [ dH]
o = S E R o
ol & o oo & = ) x
2B MBI S = WM | = oA
o2®I| Laugel DA 45,00021x800 = 3,600
SABANY BE 20
1, 30021 X902 x1 £ X170 - 19,890
401
AEH e 362,088 281,009 81,079
CHgl
360,000 279,000 81,000(01 Al&H]
o2AZE QI 2 £20/A 20,000,0002x1Al = 20,000
o®I| =(0IBLS)MSE AN HAY
30,000, 0002 x1A! - 30,000
oNBEHE U =NHAILS SXB2IAL
30,000, 0002 x14! - 30,000
oM L HHAS HE 20,000,0008x1Al = 20,000
oBiC U =XAILS SXZEl  30,000,0008x1A = 30,000
o C B (FHLOIZ M AL T2H)
20,000, 0002 x 14! - 20,000
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ZH:(3000) Z MIOHEH]  2t:(3300)2EXNKAEZIHeH| & (3310) At XHRI DR &t M&E: (3B =sXHA Mg : (220) REMIAFS (4R[S HH]
2 = ¥ 4 o 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
o T a2l FIEAMIY| 30,000,000 x14! = 30,000
osEaE X=4F 30,000,000 x14! = 30,000
oLETEEY XN 20,000,000 x14! = 20,000
osTaE MSAE &1 20,000,000 x14! = 20,000
oAtIHZ O HOAM HX(SE BE)
40,000,000 x1A! = 40,000
oRQUBEA RN (SE =) 40,000,000 x14! = 40,000
oYES =B FCHEA 30,000,000 x14! = 30,000
2,088 2,009 79103 Al&2CHY
o ARI XIS EALY Al & S THHI
290,000, 0002 x0.72/100 = 2,088
405
XHALS S ) 2,500 3,050 AB550
2,500 3,050 AB50(01 KA 2 Z 5 SH
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ZH:(3000) Z MIOHEH]  2t:(3300)2EXNKAEZIHeH| & (3310) At XHRI DR &t M&E: (3B =sXHA Mg : (220) REMIAFS (4R[S HH]
2 = ¥ 4 o 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
oS NSHAD 500,000 x1CH = 500
o= ACIZD] 700,000 x1CH = 700
osa oDl 400,000 x2CH = 800
oTA=EAIY JIZRX2 CIXNE It 2
500,000 x1CH = 500
400
VEIEES 800 800 0
420
J|E 800 800 0
305
HHAZ2S 800 800 0| cAtZIAF 2 AL 2t DO BAR 40,0002x20% = 800
3320 [=2 0 < 101,725 <& 180,000 |
X2 2el 555,624 670,515 A114,891 [Al 273,899 0 0]
3321 [= 0 = 101,725 < 180,000 ]
K| 2= 2 XH 5l CH =4 AF 555,624 670,515 A114,891 [Al 273,899 0 0]
H
100
2 A0 AF 44,330 43,007 1,323
110
oI A H| 27,710 26,343 1,367
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Z:(3000) Z MIOHEHl  2:(3300)=EX S EINLH| & :(3320) Xl =TH 2t el NI (3321) X =L THOHCH 24 ALY MIAIEH: (110) Q124 H] [ERE] [ HH]

o = oW m
ol & o oo & = ) x
I 2 8L HIE. HAIE = A
101
01214 27,710 26,343 1,367
27,710 26,343 1,367(05 LAIAIS QI 2
oEHMAY DRI MEZY R
27,7102x109x80L = 22,168
oEHAY D4&EX B
27, 71021x2%x 100 = 5,542
120
=PNEE] 16,620 16,664 A4
201
2Bt Y| 16,620 16,664 A4
16,620 16,664 N44)01 LBr2 ]
o1, Yt =Y
- THoH 2t M8 AES JIE2|
6,300,000 = 6,300
=6. 22
- THOH . THLH2HE] M8 22X S
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&:(3000) 2 MIOHE I  2:(3300)=EXNABEINL Y| &:(3320) X 4= H2te] MIEH: (3321) X=X THOHCH R ALY MIAIE: (120) B &R A B [E7E][e:d ]
o = v~ m
ol & o oo & = ) x
I 2 HIE ML = o & % s A Z
5,002 x20Hx302 = 3,000
o7.YxZ
- THOHCH= | Xt 300,0008x 1504 = 4,500
©9. Al ZZHI KX/t
- WA 2201 22 100,00021x100H = 1,000
- 42 9 g2)| IS8 RE7Y
1,30021x20 £ x25CHx23] = 1,300
- MY DARX TR RFIPY
1,30021x50 £ x2CH x4 2 = 520
200 =2 0 = 101,725 & 180,000 ]
AR O] &t 511,294 627,508 A116,214 [Al 229,569 i 0 m 0]
210 = 0 & 101,725 & 180,000 ]
CEJNE 464,206 587,558 A 123,352 [Al 182,481 i 0 m 0]
401
PRI 464,206 587,558 A 123,352
CH bl
461,725 583,011 A121,286/01 Al &
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Z:(3000)Z RNl 2H:(3300)2E XL EINLH| 8 (3320) K 2T L2 HIBH: (3321) RIS THAHCH R4 ALY AIAIEE : (210) & A EEENECREY
2 = ¥ 4 o 5
ol & o oo & = ) x
I 2 HIE ML = o & % s A Z
oEHZ"0HO|"IIcH AGHA (2aA)
101,725,000 x 14! = 101,725
(%) 101,725
o =5 KIHIRAE(ASHRE) HHIZAHL=200m)
- AAISH Y 200,000,00024x4.08/100 = 8,160
- A& 191,840,000 x14! = 191,840
() 100,000
(Al 91,840
olls HSH(AGHE) EHIZAHL=100m)
- A A& A 160,000,000 x4.59/100 = 7,344
- A& 152,656,000 x 14!l = 152,656
() 80,000
(Al) 72,656
2,481 4,547 A2,066/03 Al&LCHH|
o ASHE FHIZA AR
344,496,000 x0.72/100 = 2,481
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ZH:(3000) Z MIOHEH]  2t:(3300)2EXNAASZINH] &t (3320) X 4= H 22 MIEE: (3321) K1 &= THOHCH = AR Al AIEE: (220) KEMIAFS (4R[S HH]
2 = ¥ 4 o 5
ol & o oo & = ) x
R BB NIEE. HIAIE = o & s oA Y
220
K| ALY 47,088 39,950 7,138
206
L] 6,800 6,450 350 o XA Re
- P.PECY 3002x12,00004 = 3,600
- 22z 3,0002x20004 = 600
e 50,0002x302 = 1,500
- 29, H3 Y &2WS 20,0009x25% = 500
- %) BESA 2 (391X,50m)
150, 0002 x4H = 600
401
NEEEE 40,288 30,000 10,288
Chl
40,000 30,000 10,000(01 Al&H]
olls LEX MHIZA 40,000,000 x14! = 40,000
288 0 288(03 Al&=2HY|
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X:(3000)ZRINLH 2 (3300)REX RS EHLH| 8 (3320) X &K 22 HIBH: (3321) X122 THGHCH 2L AFRS A AIBE: (220) KR AFES EEENECRE]
2 = ¥ 4 o 5
ol & o oo & = ) x
I 2 HIE ML = o & % s A Z
o2 MHIZA AlEEUH
40,000,0002/x0.72/100 = 288
3330 & 1,700 = 443,406 2% 1,136,000 ]
AL e 5,078,430 3,631,731 1,446,699 [Al 3,497,324 i 0 0]
3331 B 1,700 < 20,000 2 0]
ALHH 2,469,270 2,296,090 173,180 [Al 2,447,570 i 0 0]
100 =2 0 = 20,000 o 0]
Z A0 AF 704,799 692,065 12,734 [Al 684,799 0 0]
110 = 0 = 20,000 & 0]
oI 24 H| 189,606 173,793 15,813 [Al 169,606 I 0 0]
101
oI A H 189,606 173,793 15,813
187,389 171,642 15,747 |04 L0129l
oZ2A22
- =2 32,0202Ix8%x300 = 76,848
(%) 20,000
(Al 56,848
- Aoz 76,848,0002x4/12 = 25,616
- =52y 32,0202x8% x50 = 13,321
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ZH:(3000) 2 MIOHEHl  2r:(3300)=2EXS S EINLH| &:(3330)2A 422 MIgH:(3331)HE8H MIAIEE: (110) @124 ] [ERE] [ HH]

2
It = S I R == BT m}
of & oH AF = 91 =
2.8 ME MHIE 2 o &b oA s A

- X 32,020 x8&x128 = 3,074
- Xt 32,0208 x8&x20 = 5,124
- N2 R 4,3803x8Hx2A12tx128 = 9,251
- A=A 50,000&x8Ex128 = 4,800

-Jlas 42,1203 x2Ex300€ = 25,272
- 0= 25,272,000&x4/12 = 8,424
- TR 42,1208 x2Ex52g¢ = 4,381
- X 42,1203 x28x128 = 1,011
- Xt 42 1203 x2Ex20¢ = 1,685
- N2 R 5,7603x2Hx22A12tx12&8 = 3,042
- A=A 50,000&x2&Ex128 = 1,200
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ZH:(3000) 2 MIOHEHl  2r:(3300)=2EXS S EINLH| &:(3330)2A 422 MIgH:(3331)HE8H MIAIEE: (110) @124 ] [ERE] [ HH]

i, = Oﬂﬁﬁaagw Iml N = ) ~
I opa N AIAIE = L AN

occz4zel I
- o= 10,0002 x8% x5 = 1,760
- or& 5t 38,5002/x8% 23| = 616
- Y= 110,0008/x8% = 880
- 29 10,0002/x8% = 80
- &3 15,0002/x8% = 120
- oM@ 5.0002/x8% = 40

oIIEE BANZ U=
- Xo= 110,0002/x2% x25| = 440
- YEt= 110,0002/x2% = 220
- 29 10,0002x2% = 20
- orm &t 38,5002x2% 25| = 154
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Z:(3000) B HIJHEHl  2:(3300)=EAEEEINLH| &:(3330) 2 & 2tel MIgH:(3331) A H MIAIE:(110)

ar—=p, Hday Ol [ERE] [ 3]
2 = ¥ 4 o 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
- OIEQ 5,0002x2% = 10
2,217 2,151 66/05 LAIAIIOIE Q!
CEZRNEY XA 02l
27, 7102 x2H x2 U x200H A = 2,217
120
Z AR A Y| 515,193 518,272 A3,079
201
o 52 94 H| 443,572 442,021 1,551
443,572 442 021 1,551/01 LBty
o, Yeta=y)
- 2M29 Uiy 2,060,000 = 2,060
- LANIZ2 HDES JEILE 6,200,000 = 6,200
- YOlY TDRED ARE ngl
.cy 150,000 x10CHx 18] = 1,500
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ZH:(3000) 2 MIOHEHl  2r:(3300)=2EXS S EINLH| &:(3330)2A 422 MIgH:(3331)HE8H NIAIE: (120) B & = I [ERE] [ HH]

. N 04I¢+‘%“§EEH| = A B Jl ES
.2 8 M. HAIE = o & % s A Z
EU 60,0002 x10CHx23] = 1,200
- HUAF HIZEH Y 8002x2,5000H = 2,000
3. BTS2 L MA
- 2A2Y 2223 480,000 = 480
- Jt2(2ens Aoz 34,000,0002/x128 = 408,000
=6. S
- 2A2Y Sl 4,620,0008 = 4,620
- g5 42 32 5,00080x20Hx30 = 3,000
- CEA Y DI OF2ES S|
5,00081x8% x83/x 128 = 3,840
o7. ARZ
- £2 A3=E? JHYX 350,0002/x103] = 3,500




&:(3000) ZMIOHEEl  2:(3300)=EXNABEINLY| &:(3330)H&=e| I (3331)HEHE HIAIE: (120) Z A X Z | (RE] [ ]
o = ¥ od o« m
ol & o oo & = ) x
I 2 8L HIE. HAIE = A
- CANISEN ZJHYH(E, =)
300,000 x53] 1,500
9. AI&EHIRIYI
- ABR2t2 35 KX
I 1,3002/x6 £ XB0AI 2tx3% 1,872
AR 800X 10 £ X200Al 2+ 1,600
- 22l 300,0002!x45x13] 1,200
- 0S4l =5 42l L DEAH
500,000 x23] 1,000
202
o1t 24,960 30,220 A5,260
24,960 30,220 A5,260(01 2LH0HHI
oXQAP F=X N 10,0002/ X 192 X6 x 122 13,680
oIRMARE L WLHBRAM2NS FA 0|
40,0002 x3H x4 x83] 3,840
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=:(3000) ZMIJHEHl 2+ (3300)2E R E RS 8 :(3330) 2 A& 2t HIBH: (3331) AL A HIAIES: (120) B A=A Y| [HRE] [ ]
2 = ¥ 4 o 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
- NEY| 1,6002x21Hx252Ux 128 = 10,080
- o=y
a2z= 110,0002x212x15] = 2,310
=b{ 5,0002x21¥x13] = 105
Ctal 38,500Rx21%x15] = 809
- QU 3,000¥x21%x13] = 63
- SO s=1 S0 15,0002x21% x4 = 1,260
200 =2 1,700 & 0 0]
AFSS Off AF 1,764,471 1,604,025 160,446 [Al 1,762,771 0 0]
210 [= 1,700 & 0 & 0]
2 RALY 1,700 2,168 A468 [Al 0 0 1 0]
403
XSRS 1,700 1,700 0
20| ®
1,700 1,700 0 I 2HS 0l CH BHCHEH A
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&:(3000)ZHNEEl  2:(3300)2E X o) B (3330) A 2 B2 Mg (3331) 21 48 HIHIEE: (210) 5 F A2 ciol e
o = H5 = m
o o oo & = ) x
X2t s M A E = O N
oHE RN Byl 1,700, 0002 x14! 700
(= 700
220
X R ARES 1,762,771 1,601,857 160,914
206
D] 47,79 47,562 o3 oazE HoTDTY
- 5,000 X8 x33] 120
- 20 65,0002 x82x13] 48
- unz 4,0002 X8 x23| 64
- w3 mY 30021x8% x 1003] 240
YEES)| 20,0002 X8 x 13| 160
B E (ORI, S AT, 2IHE)
500, 00021x14! 500
SAYLR I2S U BOS BAT P
e 60, 0002 x607H 600




& (3000) ZHONZHl  2:(3300)=ENJAE =LYl &:(3330)H& 22| I (3331)HEHE NI KIEE: (220) KERIAFS (@R[ &3]
2 = S - im)
Ol &b o A = ) =
I opa N AIAIE = L AN
- Yo 25,0002/x40000 = 10,000
- R 25,0002 x30001 = 7,500
- BI(HE |LIE) 300,000&x100H = 3,000
- ®H 70,0002x20% = 1,400
- BHA 01217 40,0002 x3EX50 = 600
- S22 100,000& %2000 = 2,000
CEZAEE BT
=L 20,0002!x100m = 2,000
- 2AA 10,0002 x5Z X200 = 1,000
- AHE 4,0002X100% = 400
- =32 15,0002 x200% = 3,000
- s2i0 7.0002x100€ = 700
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XF:(3000)ZRONLHl  2+:(3300)2EX S EINLH| 8 (3330)HA 242 Mg (3331) 1 83N HIAIE : (220) RERI A [HRE] (o2&
2 = ¥ 4 o 5
ol & o oo & = ) x
L2 S HIE AIMIE =2 of A oM = A
- otAR 36,6002 x120E = 4,392
- HotAZ2 He 27,5002 x120€ = 3,300
- WSYXE M HOIE 20,0002 x50 = 1,000
oE2E I BEERY
- OlAZE HOg g4 280,000€x50 = 1,400
. E-PlI=; 20,000&4x500 = 100
- THOH(MI&)UHHl G3t2s e 6,350Rx200%Z = 1,270
401
NE=LE =] 1,714,977 1,554,295 160,682
CH
1,710,000 1,550,000 160,000(01 Al&H]
oior2actel 842 AHL=586m)
500,000, 0002 x 14! = 500,000
oML AMBENT DNATC2IACIEZEH(2CH)
100,000,000 x 1Al = 100,000
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ZH:(3000) B MIDHEH]  2:(3300)2EXREZIHEH| 8F:(3330) 24 & 22l ANISt: (3331)H &N NIAIS: (220) XEAIAFS (4R[S HH]
2 = ¥ 4 o 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
oML ANBEI] SAALZETR(HAUMATRQ 5IA)
100,000, 0002 x 14! = 100,000
CIIRS OIMEA 2NEINA MY
20,0002 x5,000m = 100,000
cIIZE SXBA 20,000,000 x14! = 20,000
oCZ2228X B4t 200,000,000 x14! = 200,000
o OIAUS AR A Ol = FH|(L=30m, B=3m)
30,000,000 x 14! = 30,000
oLUFTN~AHT 22 ARSI M 2T (L=2,000m, B=15m)
60,000,000 x 14! = 60,000
o0 XE8 W oI = MH|(L=260m, B=1.2m)
50,000,000 x 14! = 50,000
oS T E 6N OFARAM2I((L=200m, B=5m)
20,000,000 x 14! = 20,000
oENEN TM U HY| 30,000,000 x14! = 30,000
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Z:(3000) Z MIOHEHl  2:(3300)=E XN EEIMNLH| &:(3330) 4 & 22| MIgH:(3331) A H NIAIEE: (220) REHI A [ERE] [ E)¥]
o = SRC I m
ol & o oo & = ) x
I 2 HIE ML = o & % s A Z
CoREL YU AIT(1654 )0 A (L=1,000m,8=1.5m)
100,000,0002x 14} = 100,000
oRoIR BYE TE=7Y| 400,000,0002x14! = 400,000
4,977 4,295 682|103 Al& S CHH|
CEZ A AR 790,000,0002/x0.63/100 = 4,977
3332 [= 0 = 423,406 1,136,000 ]
X280t 2 AL 2,609, 160 1,335,641 1,273,519 [Al 1,049,754 T 0 m 0]
200 [= 0 & 423,406 1,136,000 ]
AF O At 2,609, 160 1,335,641 1,273,519 [Al 1,049,754 1 0 m 0]
210 [= 0 & 423,406 1,136,000 ]
2 XA 2,155,920 1,335,641 820,279 [Al 596,514 i 0 0]
401
NEEEES 2,155,920 1,335,641 820,279
CH bl
2,148,406 1,331,000 817,406|01 Al&H|
CEHZE"IHDI'IIG SHEEZ =7 (222l 21F2063)
8,406,0002!x14! = 8,406
() 8,406
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X (3000) B RINLHl  2+:(3300)2EXA S EIHLH| & :(3330) 2L 242 MBH: (3332)XIHBIOHE 2 ALY MIAIE: (210) 2 T A (42 [o: M
= = S H m
of Ao | - A = I =
X B oa N HAHE = o & W = oA .
oAH1E TAIHEEZZ(A1-71)IH A (L=280m,B=10m)
300,000, 0002 x 14! = 300,000
(%) 150,000
(Al 150,000
oRHAY TAIHECR2(Z2-30) M E (LA ,459m")
270,000, 0002 x 14! = 270,000
() 135,000
(Al 135,000
oREL TAHEZZR(F3-3)HA (E2A600m)
260,000, 000! x 14! = 260,000
() 130,000
(Al 130,000
oX)| MM & I AHL=1,100m,B=8m)
- AAlE A 715,603,000€4%2.99/100 = 21,397
- Al&H] 715,603,000 x14l = 715,603
() 639,000
(Al 76,603
o=l S8 & ZHIZAH(L=1,400m,B=6.5m)

_53_



ZH:(3000) B MIDHEH]  2:(3300)2EXREZIHEH| 8F:(3330) 24 & 22l MISt: (3332) KNSt 2 ALY MIAIEE: (210) E X ALY S &M ]
ot = & 494 & m
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
- AAIE A 556,363,0002/x2.99/100 16,636
— A&l 556,364,000 x 14! 556,364
(& 497,000
(Al 59,364
7,514 4,641 2,873/03 A& 1Y
XA R ALY Al L2HY]
2,086,966,0002x0.36/100 7,514
220
KA AFR 453,240 0 453,240
401
NEREE] 453,240 0 453,240
Chl
450,000 0 450,000(01 Al&HI
o8 P02l SHOtE R JHA = AH(L=500m,B=6m)
150,000, 0002 x 14! 150,000
oz MU ~A02t £ ST E T AHL=250m,B=7.5m)
200,000,000 x 14! 200,000
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AT Z2AY  AIAIE:(220) REAIAFS [ERE] [ HH]

ZH:(3000) B MIDHEH]  2:(3300)2EXREZIHEH| 8F:(3330) 24 & 22l AISt: (3332) X & &l o
2 = ¥ oEd | oy 5
ol & o N & = ) x
A s M MMIE 2 o & o =5 A Y
o2 A2l Xgl2 I ATAHL=1,000m,B=7m)
100,000, 0002 x 14! = 100,000
3,240 0 3,240|03 Al&ECHY]
XA R ALY Al R2HY]
450,000,0002x0.72/100 = 3,240
N = & 3 11,388,335 9,532,375 1,855,960
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